Numerical Ccrossword

This is a more challenging puzzle for those of you who enjoy the Dateline puzzle. Be warned, it’s
not easy! A couple of terms that might need defining: ‘product’is the result of a multiplication;
‘sum’ is the result of an addition; ‘digit total’ is the sum of all the digits in the number.

Starter hint: 1 Across is easier than it looks!

ACROSS
1 First digit is twice the second digit and
they total 7 across
3 Two thirds of 5 across
5 3 down plus 1 across
7 Square root of 14 across
9 1 across times 7 across
10 3 across plus 5 across
11 Consecutive digits
12 Twice 10 across
14 One quarter of 16 down
16 Total of all answers in the top row
18 27 across plus 20 down
19 Half 6 down
21 35 across minus 11
23 Consecutive digits, not in numerical order
25 Digits of 7 down and 16 down rearranged
27 11 across times its first digit
29 First two digits are half the last three
digits a7
32 24 down reversed .
35 Consecutive even digits 50 51
37 First two digits of 3 across followed by
first two digits of 70 across
38 Reverse of a square number 7 Last dlglt is total of the other three dlgItS
40 29 across reversed 8 If multlplled by its last d|g|t equa|3 3 down
41 49 down reversed plus 3 across 13 All digits are odd
43 Each digit is one less than the 15 First digit is average of all the digits
corresponding digit of 5 across 16 Twice (77 down plus 26 down)
44 Palindrome i.e. reads the same in both 17 46 across divided by 53 across
directions 19 Consecutive digits, not in numerical order
46 First digit of 38 across squared, followed 20 Last digit equals the product of the other two digits
by first digit of 50 across squared 22 Only two different digits used,; total equals 24
47 First two digits of 32 across times their 24 Twice 4 down
total 26 One sixth of 52 across
48 First two digits minus last two digits equal 28 Four times 79 across
50 across 29 16 across plus 26 down
50 First two digits of 74 across plus the last 30 Square number
two digits 31 All digits are the same
51 Fourteen times 49 down , 32 First two digits equal two thirds of the last two digits
52 Consecutive digits, not in numerical order 33 17 down rearranged
53 Digit total of 47 across 34 5 across plus 14 across
DOWN 36 First two digits equal one third of the last three digits
) 37 Consecutive odd digits
1 Three times 8 down 39 35 across rearranged
2 Digit total is the same as that of 3 across 42 34 down plus its reverse
3 21 across divided by 13 43 1 across plus 46 down plus 50 across
4 D!g!t total equals one quarter of 7 across 45 38 across plus 43 down
5 gg:ﬁ;ﬁég dacr oss and 17 down 46 First two digits of 2 down minus the last two digits
6 5 down divided by the last two digits of 49 Sum of the squares of each digit of 8 down

5 across

This puzzle may be printed or copied solely for personal use. © Puzzler Media 2008.
This puzzle may not be reproduced in any other form without the written consent of the
publishers. The puzzle appeared originally in Puzzler Collection.

Puzzler

3 AR HAA EE
scle/ollsL/slls zloll]
A _H

Al H z
[2[e[Lv[oJllL]v]¥]
lE“ls'lll [8]9/v|z]




